normalized X?

[ normalized x? probability |

chiz ThiZ_prob
Entries| 23164 0.05 Entries 23164
+ - [ Mean 1,004 Mean 05673
Std Dev 09723 Std Dev 03185

- 1
o2 PR

_, _[Entres 23165 0.04] - [Entres 23165
10 Mean 1.004 Mean 0.5672
: : Std Dev. 0.9723 Std Dev. 0.3186

[ chi2 hiz_prob
1073 . - [Erves 23187 0.03 Entries 73187
t 0 | Mean 1.005 Mean 05671
: Std Dev 09735 Std Dev 03186

0.02

0.01

< x2/ndf >

B1

=

mmsm DQM_V0001_R000000001__Global
— DQM V0001_R000000001__Global

__mkFit1000__RECO
__mkFit1000ATime__RECO

‘o +O i e i i i
e I
214 R
H vI I Il 1 Il Il Il Il Il Il Il
R
R R g
10 12 14 16 18 20 09%970.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
X? Prob(x?)
=== DQM_V0001_R000000001__Global__mkFit10000__ RECO

Ratio

< x2/ ndf >

< X2/ ndf >

Ratio

Ratio

1072

-1
AR(track, jeltS)



	Contents
	Page 1


